6.SP.B.5 Summarize numerical data sets in relation to their context

For what value of x will 8 and x have the same
mean (average) as 27 and 5?

I 1.5

2) 8

3) 24

4) 40

If 6 and x have the same mean (average) as 2, 4,
and 24, what is the value of x?

1 5

2) 10

3 14

4) 36

A set of data consists of four scores: x,x,,x,, and
x,. If the mean of the four scores is 9, what is the

value of x, whenx, =5,x, =7, and x, = 117
1) 9
2) 13
3) 3
4) 12

For five algebra examinations, Maria has an
average of 88. What must she score on the sixth
test to bring her average up to exactly 90?

H 92

2) 94

3) 98

4y 100

The exact average of a set of six test scores 1s 92.
Five of these scores are 90, 98, 96, 94, and 85.
What is the other test score?

92

91

89

86

During each marking period, there are five tests. If
Vanita needs a 65 average to pass this marking
period and her first four grades are 60, 72, 55, and
80, what is the Jowest score she can earn on the last
test to have a passing average?

1) 58

2) 65

3) 80

4) 100

In his first three years coaching baseball at High
Ridge High School, Coach Batty's team won 7
games the first year, 16 games the second year, and
4 games the third year. How many games does the
team need to win in the fourth year so that the
coach's average will be 10 wins per year?

1 13

2) 10

3 3

4 9

This year, John played in 10 baseball games. In
these games he had hit the ball 2, 3,0, 1, 3, 2. 4, 0,
2, and 3 times. In the first 10 games he plays next
year, John wants fo increase his average (mean) hits
per game by 0.5. What is the total number of hits
John needs over the first 10 games next year to
achieve his goal?

H 5

2) 2

3 20

4) 25

The mean (average) weight of three dogs is 38
pounds. One of the dogs, Sparky, weighs 46
pounds. The other two dogs, Eddie and Sandy,
have the same weight. Find Eddie’s weight.
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6.SP.B.5 Summarize numerical data sets in relation to their context

The students in Woodland High School’s
meteorology class measured the noon temperature
every schoolday for a week. Their readings for the
first 4 days were Monday, 56°; Tuesday, 72°;
Wednesday, 67°; and Thursday, 61°. If the mean
(average) temperature for the 5 days was exactly
63°, what was the temperature on Friday?

TOP Electronics 1s a small business with five
employees. The mean (average) weekly salary for
the five employees is $360. If the weekly salaries
of four of the employees are $340, $340, $345, and
$425, what is the salary of the fifth employee?

On his first 5 biology tests, Bob received the
following scores: 72, 86, 92, 63, and 77. What test
score must Bob earn on his sixth test so that his
average (mean score) for all six tests will be 80?
Show how you arrived at your answer.

Juan received scores of 82, 76, 93, and 80 on his
first four chemistry tests of the year. His goal is to
have an 86 average in chemistry for his first five
tests. What score must he earn on the next test to
achieve an average of exactly 86?

Judy needs a mean (average) score of 86 on four
tests to earn a midterm grade of B. If the mean of
her scores for the first three tests was 83, what is
the lowest score on a 100-point scale that she can
receive on the fourth test to have a midterm grade
of B?

On the first six tests in her social studies course,
Jerelyn’s scores were 92, 78, 86, 92, 95, and 91.
Determine the median and the mode of her scores.
If Jerelyn took a seventh test and raised the mean of
her scores exactly 1 point, what was her score on
the seventh test?

Noj has the following test scores:

76,84,69,74,91
His teacher will allow him to retake the test on
which he scored lowest. Noj wants an average of ar
least 82. Determine the /east number of additional
points Noj must score on the retest.

Tamika could not remember her scores from five
mathematics tests. She did remember that the mean
(average) was exactly 80, the median was 81, and
the mode was 88. If all her scores were integers
with 100 the highest score possible and 0 the lowest
score possible, what was the /owest score she could
have received on any one test?

Angelo, Brandon, and Carl work in the same office.
Angelo's age is 4 years more than twice Carl’s age.
Brandon is 5 years younger than Carl. The average
of the three ages is 41. Find the age of each of the

men.

The mean of three numbers 1s 25. The second
number is four less than twice the first. The third
number is two more than four times the first. Find
the smallest number.
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1 ANS: 3
x+8 27+5
2 2

x+8=32
x=24

2 ANS: 3
b+x 2+4+24

2 3

3 ANS: 2
4 ANS: 4
88 +38+83+38 +83+x _
6

90

440 + x = 540
x =100

5 ANS: 3
S0+98+96+M +85+x _
6

92

463+ x =552
x =239

6 ANS: 1
60 +72+355+80+x _
5

65

267 +x =325
x=58

Answer Key

7 ANS: 1
T+16+4+x
—

27+ x=40
x=13

=10

ANS: 4
24+3+0+1+3+2+4+0+2+3 20

X
0 —E—z E—2+0.5

x=25

ANS:
46+ x+ x _

3
34, 46 +2x=114

2x =168
x=3

38

ANS: 59
56+72+6?+61+x=
5

63

256 +x =315
x =59°

ANS: $350.
340 + 340 + 345 + 425 + x
5

=360

1450 + x = 1800
x =350

ANS:  90.
72 +86+92+63+7?+x=
6

a0

390 + x =480
x =90
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ANS: 99.
82+76+93+80+x _

86
5

331+ x =430
x =99

ANS: 95.
83+83+83+x
7 =
249 + x =344
x=95

86

92+78+86+95+01+x
7
median = 91.5; mode = 92; 96. 534 + x =630

x=96

=89+1

ANS:
76+84+x4+74+91
5

x+325=410
x=285

=82 85-69=16

ANS:

63. Since there is an odd number of tests (3), the median (81) represents an actual score, and not the average of
two scores. Since the mode is 88, that score appears at least twice. To calculate the lowest score Tamika could
have received on the fifth test, maximize what she received on the fourth test. But if she received a 100 on the
fourth test, the median would no longer be 81. Therefore the fourth exam must be less than the median, or 80.
81+88+88+80 +x — 30

5

337 + x =400
x=63
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Answer Key

6.SP.B.5 Summarize numerical data sets in relation to their context

18 ANS:
Angelo is 66, Brandon is 26, and Carl is 31. Carl =x, Angelo = 2x + 4, Brandon = x — 5.

x+(2x+d)+(x-9)
3

=41

dx-1=123. Carl =31, Angelo=2(31) + 4 = 66, Brandon = 31 — 5 = 26.
x=731

19 ANS: 11
x+[2x—4;+(4x+2)=25

Tx=-2=50
x=11
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